Convert from Celsius to Fahrenheit
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Answer Key

37°C=98.6 °F 14°C=57.2 °F
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Convert from Celsius to Fahrenheit

-14°C = °F 31°C= °F
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Answer Key

-14°C= 6.8 °F 31°C=87.8 °F
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Convert from Celsius to Fahrenheit
4°C= °F 25°C = °F
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4°C=39.2 °F

// ©O OC N\
120 50
110 0
100 4

90 30
20
10
0

-

2

6°C=42.8 °F
/f/ © OC \\
50

120
110

100 40

30

20

10

0

-

|\

Answer Key

25°C=77.0 °F
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Convert from Celsius to Fahrenheit

17°C =

°F
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Answer Key

17°C=62.6 °F
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Convert from Celsius to Fahrenheit

-40°C = °F -16°C = °F
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Answer Key

-40 °C =-40.0°F -16°C= 3.2 °F
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-17°C= 1.4 °F 1°C=33.8 °F
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